
©a c2Z0\1v7m lKJu`tQac sSEoffZtgwOakrUeP vL`L[CP.v I CAJlplP ErNitgPhntisv _riezs^eErovHeidE.O L BMsaudrew VwGi[thhH BIGnGfyiynXiwtqex ]ABl`gxesbmrnaV ^1Z.

Worksheet by Kuta Software LLC

Algebra 1

5-3b Elimination Continued / REVIEW
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Solve each system by elimination.

1)  -3x + 6y = -27
5x - 6y = 9

2)  3x - 2y = -20
3x - 3y = -27

3)  9x - 7y = -19
3x + 4y = 19

4)  6x - 2y = 14
-12x - 6y = -18

5)  7x - y = -1
-14x - 2y = -30

6)  -10x - 15y = -30
-9x - 5y = 24

7)  10x - 2y = 8
4x - 3y = 1

8)  3x + 7y = -23
8x - 10y = -4

Solve each system by graphing.
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10)  y = -
1
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11)  2x - y = 1
x + 2y = 8
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12)  6x + y = 3
x - y = 4
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Solve each system by substitution.

13)  y = -3x - 5
y = 3x + 7

14)  y = 3x - 8
8x - 6y = -2

15)  -5x - 5y = 10
x + 2y = -9

16)  4x - 2y = -16
2x + y = -20

17)  y = -3
8x + 7y = -21

18)  -6x - 6y = -12
-8x - 5y = -19


